. U | It \ o Up | R (R | Uy [Ugayy u,, | o [ dgsa| Jgs | S | u [ Ri | R | R
vV | A V | kQ [kQ | V |V v ‘mA| mA | mA | WAV VIV MQ kQ| Q
mixer-hept. | 250 | 8,5 | 10| 250 | 100 | —25+ —25 | 3,25 6 |02 | 750=7,5 1,5 | 50 | 140
ECH 2 eur | 12} 6309 {stat.-triod. 100 0 (5500) | 17,5
mixer-hex. 100 | 35 [ 100|100| 40| —1 =~ — 88 0,75 1,2 |0,165| 47047 1 30 | 300
mixer-hex. 200 | 35 | 100 200| 87 | --2 = —158 1,7 | 22 |0,33 | 59059 1 30 | 300
mixer-hex. 250 | 35 60250 95| -2 = —16 | 22| 28 (033 | 640-6,4 1 30 | 250
stat.-hex. 300 | 125 maximum(l=18mA;P,=1,8W;P,,, ,=0,6W U, =100V)
ECH 11 eur | 4 | 6302 osc.-triod. 100 64 1.2 30
osc.-triod. 200 RaT; o |12 2,6 30
osc.-triod. 250)| = 148 3,4 30
stat.-triod. 100 0 11 (2800) | 20
stat.-triod. 150 maximum (P, =1 W)
¥

1) vide Fig. 1




: Ur Iy a Up | RY) (RY | Us | Ugyyy Ug, lo lggrg| lgs 5.(5) 7 Ri Rgy | Rk
v A \% kQ | kQ | V v v mA| mA | mA vAlV (VIVIMQ | kQ Q
mixer-hex. 100 | 19 54 | 100 55 | —1,25+ —13,5/ 1 1,4 0,2 450=4,5 1,3 | 50| 210
mixer-hex. 200 | 19 541200 | 100 | —2 =+ —23,5/ 3 3 0,2 650=-6,5 09 | 50| 210
CCH 35 eur 3 7 0,2 mixer-hex. 250 | 24 33250| 100 | —2 = —23,5 3 3 0,2 650=6,5 1,3 | 50 | 215
ECH 3 eur 2 6,3 0,2 mixer-hex. 250 | — — | 250] 100 | —2 +~ —-17 | 3 3 0,2 650=6,5 1,3 | 50 | 215
ECH 33 eur 3 6,3 {02 stat.-hex. 300 | 125 | maximum(lyiry=15mA; P,.=12W; P, ., ,=0,6W; Up =100V)
UTH 1 Oxt 2 12,6 | 0,15 osc.-triod. 100 3,3 0,2 50
12 E 8 MGT Vis 3 12,6 | 0,15 osc.-triod. 150 8 0,2 50
stat.-triod. 100 0 10 (2800) | 24
stat.-triod. 150 maximum (P, =15 W)
|
X6 M MOG 3 63| 0,3
X 71 M MOG| 3 13 016 mixer-hex. 250 | 15 10250 ] 100 | —3 =+ —25 | 351 3 6205 0,7 | 50} 200
X 76 M MOG! 3 13 0:16 osc.-triod. 250 3,5 (R,7=30 kQ)
X 62 MOG| 3 6,3 | 1,27 mixer-hex. 250 | 120 —1,5 (IgH+1)=18mA) 1750 0,33 100
mixer-hex. 250 100 | —2,5= —43 | 38| 7,5 8703 1,2 | 50
mixer-hex. 250 100 | —3 = —43 | 3 6 750=3 1,6 | 50
6 C 31 Maz 3 6,3 | 0,83 osc.-triod. 80 5
stat.-triod. 100 0 23 (5300) |16
. mixer-hex. 250 80 -3 22| 3 0,25 650 0,7 | 50 | 200
6P8G Bri 3 63|08 Jl osc.-triod. 100 2,3
{ mixer-hex. 250 80 ] —15= --25 | 55 6 0,48 110001 1 25 1 150
6 TH 8 Tu 3163106 |4 o5 triod. 100 4 0,48 | (1200) 25
1) vide Fig. 1
Equivalents
ECH 3 B eur = ECH 33 OM 10 Cos = ECH 33
ECH 3 F eur = ECH 3 WE 20 T = ECH 2
ECH 3 G eur = ECH 33 X 61 Marc = X 61 M
ECH 3 S eur = ECH 33 X 76 Marc= X 76 M
ECH 35 eur = ECH 33 X 147 Marc = ECH 33
E 1416 Marc = X 61 M 6 E 8-G eur = ECH 33
KTZ 61 Marc X 61 M 6 E 8-MG eur = ECH 33
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